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(b) At a tool service centre, the arrival rate is 3 per hour and the service potentials 4 per hour.
Simple queue conditions exist. The hourly wage paid to the attendant at the service centre is

Z 2 per hour and the hourly cost of a machinist away from his work is ¥ 5.

Calculate:

2x4=8

(i) The average number of machinists being served or waiting to be served at any given

time.

(ii) The average time a machinist spends waiting for service.

(iii) The total cost of operating the system for an eight-hour day.

(iv) The cost of the system if there were two attendants working together as a team, each
paid ¥ 2 per hour and each able to service on average 3 per hour.

5. (a) The following jobs have to be shipped a week from now(week has 5 working days)

Job A B

C

D

E

F

Number of day’s work remaining = 5

8

7

6

3

Sequence the jobs according to priority established by:
(i) Least slack rule

(ii) Critical ratio rule

4x2=8

(b) A cab operations company is experiencing the following number of breakdowns for months

over the past 2 years in their new fleet of cabs:

Number of breakdowns 0 1

2

3

4

Number of months this occurred 3 7

9

4

1

Each breakdown costs the firm an average of ¥ 2,500. For a cost of ¥ 1,600 per month,
preventive maintenance can be carried out to limit the breakdowns to an average of one per

month. Which policy is suitable for the firm?

Section B

Strategic Management

6. Choose the correct answer:

8

1x6=6

(i) Which one of the following does NOT seem to be an advantage of the strategic management?

(a) Discharges board responsibility

(b) Provides a framework for decision-making
(c) Forces an objective assessment

(d) It can be expensive
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(i) Which of the following analyses ‘products and businesses by market share and market
growth’?
(a) SWOT Analysis
(b) BCG Matrix
(¢) PEST Analysis
(d) Portfolio Analysis

(iif) Which one of the following is NOT part of the McKinsey’s 7-S framework?
(a) Skills
(b) Staff
(c) Systems
(d) Supervision

(iv) Which one of the following statement is NOT correct?
(a) Vision is the statement of the future.
(b) The corporate mission is the purpose or reason for its existence.
(c) Targets are formed from vision and mission statement of organizations.
(d) Goals are objectives that are scheduled for attainment during planned period.

(v) Which of the following can NOT be the called as a strength of an organization?
(a) Good Industrial relations
(b) Incentives from State Government
(c) Financially very sound
(d) Raw materials source at a distance

(vi) Strategic Business Unit (SBU) structure does NOT experience one of the following as an
advantage:

(a) Higher career development opportunities

(b) Better control of categories of products manufacturing, marketing and distributions
(c) High cost approach

(d) Help in expanding in different related and unrelated businesses

Answer any two questions from the following: 12%2=24
7. (a) Identify basic elements of strategic vision and discuss about the important purposes served
by such strategic vision. 1%2+2Y2=4

(b) Discuss in brief about the areas of attention for SWOT appraisal. State the purpose of such
appraisal. 6+2=8
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8. (a) State the different approaches in Strategic Planning. 4
(b) Categorise major reasons of SBU approach.

9. Write short notes on any three of the following: 4x3=12

(a) Marketing Plan and Strategy
(b) Geographic and Matrix structure for implementation of organisational strategy
(c) Types of firms/organisations for which BPR can be applied

(d) Difference between strategic management and strategic planning




